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1. ‘Rewards and Punishments are 

associated with role expectation’ 

that is known as : 

(A) Mores 

(B) Folkways  

(C) Norms  

(D) Sanctions  

 1. ^iqjLdkj vkSj n.M Hkwfedk izR;k’kk ls 

lacaf/kr gS* ftls tkuk tkrk gS % 

(A) :f<+ 

(B) tujhfr 

(C) ekun.M 

(D) LkaLohÑfr 

2. Who is the first to distinguish 

between ‘Ascribed Status’ and 

‘Achieved Status’ ? 

(A)   Ralph Linton  

(B) T. Parsons  

(C) Sir Henry Maine  

(D) Weber  

 2. ^iznÙk izfLFkfr* rFkk ^vftZr izfLFkfr* esa 

loZizFke fdlus vUrj fd;k gS \ 

(A) jkYQ fyaVu 

(B) VhŒ ikjlUl  

(C) lj gsujh esu 

(D) oscj  

3. Which of the following may be 

included in Social Norms ?  

(A)   Folkways  

(B) Mores 

(C) Custom  

(D) All  

 3. fuEufyf[kr esa ls fdls lkekftd ekunaMksa esa 

lfEefyr fd;k tk ldrk gS \ 

(A) tujhfr 

(B) :f<+ 

(C) izFkk 

(D) lHkh  

4. Which is not the characteristic of 

an institution ?  

(A)   Structure of laws  

(B) Symbols 

(C) An abstract system  

(D) Group of people  

 4. buesa ls dkSu lh laLFkk dh fo’ks”krk ugha gS\ 

(A) fu;eksa dh lajpuk 

(B) izrhd 

(C) ,d vewrZ O;oLFkk 

(D) O;fDr;ksa dk lewg  
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5. The Model of AGIL was presented 

by : 

(A)   Davis and Moore 

(B) Merton  

(C) T. Parsons  

(D) Luhmann  

 5. fuEufyf[kr esa ls fdlus ^,fty (AGIL)* 

ekWMy dks izLrqr fd;k \ 

(A) Msfol rFkk ewj 

(B) eVZu 

(C) VhŒ ikjlUl  

(D) yqgeku  

6. Who is the author of “The 

Structure of Social Action” ? 

(A)   R. K. Merton  

(B) Talcott Parsons  

(C) Max Weber  

(D) Vilfredo Pareto  

 6. ^^n LVªDpj vkWQ lks’ky ,D’ku** ds ys[kd 

dkSu gSa \ 

(A) vkjŒ dsŒ eVZu 

(B) VkydkWV ikjlUl 

(C) eSDl oscj 

(D) foyÝsM ijsVks  

7. “A community is total 

organization of Social life” is the 

statement given by :  

(A)   Ogburn and Nimkoff  

(B) Kimball Young  

(C) Kingsley Davis 

(D) MacIver and Page  

 7. ^^leqnk; lkekftd thou ds lEiw.kZ laxBu 

dk uke gS** ;g dFku fn;k gS % 

(A) vkWxcUkZ o fuedkWQ 

(B) fdEcky ;ax 

(C) fdaXlys Msfol  

(D) eSdkboj o ist  

8. Who said “Association is working 

together of people to achieve some 

purpose” ? 

(A)   Gisbert  

(B) Fairchild  

(C) Ginsberg  

(D) Bogards  

 8. 

 

 

fdlus dgk gS ^^fdlh mÌs’; dh izkfIr ds 

fy;s yksxksa ds feydj dk;Z djus dks lfefr 

dgrs gSa \ 

(A) ftLcVZ 

(B) Qs;jpkbYM 

(C) ftUlcxZ 

(D) cksxkMZLk 
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9. Who said “We belong to 

association not to institution” ? 

(A)   MacIver & Page 

(B) Mc Kim Marriott  

(C) Lester Ward  

(D) Marx  

 9. fdlus dgk gS ^^ge lfefr ds lnL; gksrs gSa] 

laLFkk ds ugha** \ 

(A) eSdkboj rFkk ist  

(B) eSfde eSfj;V 

(C) ysLVj okMZ 

(D) ekDlZ  

10. Which among the following is an 

example of a community ? 

(A)   Family  

(B) Marriage  

(C) Village  

(D) Refugee Camp  

 10. leqnk; dk mnkgj.k fuEufyf[kr esa ls dkSu 

lk gS \ 

(A) ifjokj 

(B) fookg  

(C) xk¡o 

(D) ‘kj.kkFkhZ f’kfoj  

11. Who wrote the book “Structure 

and function in Primitive 

Society”? 

(A)   MacIver and Page  

(B) S. F. Nadel  

(C) A. R. Radcliffe Brown  

(D) Ginsberg  

 11. ^^LVªDPkj ,.M QaD’ku bu izhfefVo 

lkslk;Vh** iqLrd fdlus fy[kh gS \ 

(A) eSdkboj rFkk ist  

(B) ,lŒ ,QŒ usMsy 

(C) ,Œ vkjŒ jsMfDyQ czkmu  

(D) ftUlcxZ  

12. Which of the following is abstract?  

(A)   Village  

(B) Social Relation  

(C) Community  

(D) Association  

 12. fuEufyf[kr esa ls D;k vewrZ gS \ 

(A) xkao 

(B) lkekftd laca/k 

(C) leqnk; 

(D) lfefr  
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13. Which is the example of Ascribed 

Status ? 

(A)   Teacher  

(B) Prime Minister  

(C) Clerk  

(D) Son  

 13. dkSUk lk iznÙk izfLFkfr dk mnkgj.k gS \ 

(A) v/;kid  

(B) iz/kkuea=h 

(C) fyfid 

(D) iq= 

14. Who has given the concept of 

‘folkways” ? 

(A)   Sumner  

(B) Tylor 

(C) Habel  

(D) Narth  

 14. ^^yksdjhfr** dh vo/kkj.kk fdlus nh \ 

(A) leuj 

(B) Vk;yj 

(C) gkWcsy 

(D) ukFkZ 

15. Which of the following is not a 

feature of association ? 

(A)   A collectivity of people  

(B) Having certain objectives  

(C) Voluntary membership  

(D) Permanency  

 15. fuEufyf[kr esa ls dkSu lk lfefr dk y{k.k 

ugha gS \ 

(A) yksxksa dk ,d=hdj.k  

(B) fuf’pr mÌs’;ksa dk gksuk  

(C) oSdfYid lnL;rk  

(D) LFkkf;Ro  

16. The concept of Social Structure 

was first used by whom ? 

(A)   Merton 

(B) Cooley  

(C) MacIver  

(D) Spencer  

 16. lkekftd lajpuk dh vo/kkj.kk dk loZizFke 

fdlus iz;ksx fd;k gS \ 

(A) eVZu 

(B) dwys 

(C) eSdkboj  

(D) LisUlj  
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17. Which one of the following is not 

an element of community ? 

(A)   Definite territory  

(B) We feeling  

(C) Cultural diversity  

(D) Self-Sufficiency  

 17. fuEufyf[kr esa ls dkSu lk ,d leqnk; dk 

rRo ugha gS \ 

(A) fuf’pr HkwHkkx 

(B) ge Hkkouk  

(C) lkaLÑfrd fHkUurk 

(D) vkRe&fuHkZjrk  

18. Which one of the following is an 

example of Association ?  

(A)   Caste  

(B) Tribe  

(C) Trade Union  

(D) Village  

 18. fUkEufyf[kr esa ls dkSUk lk lfefr dk 

mnkgj.k gS \ 

(A) tkfr  

(B) tutkfr  

(C) Jfed la?k  

(D) xkao  

19. ‘Role is the Dynamic aspect of 

status’, said by :  

(A)   Murphy  

(B) Linton  

(C) Lundberg  

(D) Davis  

 19. ^Hkwfedk izfLFkfr dk xR;kRed i{k gS*] fdlus 

dgk gS \ 

(A) eQhZ 

(B) fyaVu 

(C) yq.McxZ 

(D) Msfol  

20. Who has given the concept of 

“Role Set” ? 

(A)   Linton  

(B) Davis 

(C) Merton  

(D) Sorokin  

 20. ^^Hkwfedk leqPP;** dh vo/kkj.kk fdlus nh \ 

(A) fyaVu  

(B) Msfol 

(C) eVZu 

(D) lksjksfdu  



Series-A B.A. L.L.B. – 103/ 673 Page - 8 

21. How many types of tertiary 

relatives describes by Murdock ? 

(A)   151 

(B) 161 

(C) 171 

(D) 181 

 21. ejMkWd us fdrus izdkj ds rr̀h;d lacaf/k;ksa 

dk mYys[k fd;k gS \ 

(A)   151 

(B) 161 

(C) 171 

(D) 181 

22. Which of the following is an 

Social institution ? 

(A)   Trade union  

(B) Marriage  

(C) Neighbours  

(D) Village  

 22. fuEufyf[kr esa ls dkSu lh ,d lkekftd 

laLFkk gS \ 

(A) Jfed la?k 

(B) fookg 

(C) iM+kslh  

(D) xkao  

23. Classificatory and descriptive 

terminology in Kinship is given  

by: 

(A)   Majumdar  

(B) Morgan 

(C) Murdock  

(D) Tylor  

 23. ukrsnkjh esa oxkZRed o o.kkZRed ‘kCnkoyh 

fdlds }kjk nh xbZ gS \ 

(A) etwenkj 

(B) ekWxZu 

(C) ejMkWd 

(D) Vk;yj  

24. When a girl of the higher caste is 

married to a boy of the lower 

caste, the system is known as : 

(A)   Couvade  

(B) Anuloma  

(C) Pratiloma  

(D) Sororate  

 24. tc mPp tkfr dh yM+dh dk fuEu tkfr ds 

yM+ds ls fookg gksrk gS] fuEufyf[kr esa ls 

;g O;oLFkk D;k dgykrh gS \ 

(A) lgizlfork 

(B) vuqykse 

(C) izfrykse  

(D) lksjksjsV  
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25. The term “Uncle” is a : 

(A)   Classificatory  

(B) Contradictory  

(C) Descriptive  

(D) Narrow  

 25. ^vady* ‘kCn gS ,d % 

(A) oxkZRed in 

(B) fojks/kkHkk”kh in 

(C) fof’k”VkRed in 

(D) ladqfpr in 

26. Who has written the book “The 

future of Marriage” ? 

(A)   Jessie Bernard  

(B) G. P. Murdock  

(C) C. H. Cooley  

(D) H. M. Johnson  

 26. ^^n ¶;wpj vkWQ eSfjt** uked iqLRkd fdlus 

fy[kh gS \ 

(A) tslh cukZM 

(B) thŒ ihŒ ejMkWd 

(C) lhŒ ,pŒ dwys 

(D) ,pŒ ,eŒ tkWulu  

27. When a Kin is referred to 

indirectly through another Kin, the 

system is known as : 

(A)   Avunculate  

(B) Teknonymy  

(C) Amitate  

(D) Couvade  

 27. tc ,d fj’rsnkj ijks{k :i ls nwljs 

fj’rsnkj dks lEcksf/kr djrk gS rks bl 

O;oLFkk dks dgk tkrk gS % 

(A) ekrqys; 

(B) ek/;fed lEcks/ku  

(C) fir’̀oJs;  

(D) lgizlfork  

28. Which of the following illustrates 

the Social Structure of the ancient 

Hindu Society ? 

(A)   Ashram system  

(B) Varna system  

(C) Both (A) and (B) 

(D) None of the above  

 28. fuEufyf[kr esa dkSu izkphu fgUnw lekt dh 

lkekftd lajpuk dh O;k[;k djrk gS \ 

(A) vkJe O;oLFkk 

(B) o.kZ O;oLFkk 

(C) nksuksa (A) vkSj (B) 

(D) mijksDr esa dksbZ ugha 
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29. Durkheim mentioned that the 

prototype of religion is : 

(A)   Totem  

(B) Clan  

(C) Symbol  

(D) Worship of idol  

 29. nq[khZe us crk;k fd /keZ dk vkfne Lo:i gS% 

(A) VksVe  

(B) xks= 

(C) izrhd 

(D) ewfrZ iwtk 

30. In which stage of Ashram the 

purusharths of dharma, artha, 

kaam are fulfilled ?  

(A)   Brahmcharya  

(B) Grihastha  

(C) Vanprastha  

(D) Sanyas  

 30. vkJeksa dh fdl voLFkk esa /keZ] vFkZ] dke] 

iq:”kkFkZ izkIr fd;s tkrs gSa \ 

(A) czãp;Z 

(B) xg̀LFk 

(C) okuizLFk 

(D) lU;kl  

31. “The elementary forms of the 

Religious Life” who wrote this 

book ? 

(A)   Malinowski 

(B) Max Weber  

(C) Karl Marx 

(D) Emile Durkheim  

 31. ^^n ,fyesUVªh QkWElZ vkWQ fjfyft;l ykbQ** 

fdrkc fdlus fy[kh gS \ 

(A) eSyhukWLdh 

(B) eSDl oscj 

(C) dkyZ ekDlZ 

(D) bekby nq[khZe  

32. What  kind of group, Gotra is ? 

(A)   Exogamous  

(B) Endogamous  

(C) Cultural  

(D) Semi cultural  

 32. xks= fdl izdkj ds lewg dk mnkgj.k gS \ 

(A) cfgfoZokgh 

(B) vUrfoZokgh 

(C) lkaLÑfrd 

(D) v)ZlkaLÑfrd 
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33. The Varna System of India during 

the post Vedic period was based 

on : 

(A)   Birth root  

(B) Quality and actions  

(C) Occupational Identity 

(D) Traditional Determination  

 33. mÙkjoSfnd dky esa Hkkjr dh o.kZ O;oLFkk dk 

vk/kkj Fkk \ 

(A) tUe ewyd  

(B) xq.k /keZ 

(C) /kU/ksxr igpku  

(D) ijaijkxr fu/kkZj.k  

34. “Religion is belief in Supernatural 

Power” whose statement is this ? 

(A)   Durkheim  

(B) Tylor  

(C) Frazer  

(D) Morgan  

 34. ^^/keZ vykSfdd ‘kfDr esa fo’okl gS** ;g 

dFku fdldk gS \ 

(A) nq[khZe  

(B) Vk;yj  

(C) Ýstj 

(D) ekWxZu 

35. In Kinship chart ‘∆’ symbol refers 

to : 

(A)   Female  

(B) Male 

(C) Married to  

(D) None of these  

 35. ukrsnkjh pkVZ esa ‘∆’ fpUg fdls bafxr djrk 

gS % 

(A) L=h 

(B) iq:”k 

(C) fookfgr 

(D) dksbZ ugha 

36. Which among the following is not 

a Primary Kin ? 

(A)   Mother  

(B) Father  

(C) Uncle  

(D) Brother  

 36. fuEufyf[kr esa ls dkSu izkFkfed laca/kh ugha 

gS \ 

(A) ekrk 

(B) firk 

(C) pkpk 

(D) HkkbZ  
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37. Jajmani system is exchange of : 

(A)   Land  

(B) Money  

(C) Document  

(D) Services and goods  

 37. ttekuh O;oLFkk esa vnyk cnyh gS % 

(A) Hkwfe dh 

(B) eqnzk dh  

(C) izys[k dh 

(D) lsokvksa ,oa oLRkqvksa dh  

38. The system under which mother’s 

brother occupies  prominent place 

in Kinship usages is known as : 

(A)   Couvade 

(B) Teknonymy  

(C) Amitate  

(D) Avanculate  

 38. ,slh O;oLFkk ftlesa eka ds HkkbZ dks ukrsnkjh 

esa izeq[k LFkku fn;k tkrk gS % 

(A) lgizlfork 

(B) ek/;fed lEcks/ku  

(C) fir’̀oJs;k 

(D) ekrqys;  

39. Who defined religion in terms of a 

distinction between the sacred and 

the profane ? 

(A)   Malinowski  

(B) C. Levi Strauss  

(C) A. R. Brown 

(D) Emile Durkheim  

 39. /keZ dks ifo= vkSj vifo= ds chp varj ds 

vk/kkj ij fdlus ifjHkkf”kr fd;k gS \ 

(A) eSfyukoLdh 

(B) lhŒ ysoh LVªkl 

(C) ,Œ vkjŒ czkmu 

(D) bekby nq[khZe  

40. Joking relationships are found 

between whom ? 

(A)   Father and Son  

(B) Mother and daughter  

(C) Father and daughter  

(D) Brother-in-law and Sister-in-

law 

 40. ifjgkl laca/k fduds e/; ik;s tkrs gSa \  

(A) firk ,oa iq= 

(B) ekrk ,oa iq=h 

(C) firk ,oa iq=h 

(D) thtk ,oa lkyh  
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41. Which of the following is not a 

formal means of Social control ? 

(A)   Prisons  

(B) Judiciary  

(C) Folkways  

(D) Universities  

 41. fUkEufyf[kr esa ls dkSu lk lkekftd fu;a=.k 

dk vkSipkfjd lk/ku ugha gS \ 

(A) dkjkxzg ;k tsy 

(B) U;k;ikfydk 

(C) tujhfr;ka 

(D) fo’ofo|ky;  

42. Who wrote the book “Social 

control” ? 

(A)   Max Weber  

(B) Merton 

(C) Narth  

(D) E. A. Ross  

 42. ^^lkekftd fu;a=.k** iqLrd ds ys[kd dkSu 

gSa \ 

(A) eSDl oscj 

(B) eVZu 

(C) ukFkZ 

(D) bZŒ ,Œ jkWl 

43. Which of the following is not a 

characteristic of class ? 

(A)   Class consciousness  

(B) Polarization of classes  

(C) Class antagonism  

(D) Ascribed membership  

 43. fuEukafdr esa ls dkSu lh oxZ dh fo’ks”krk 

ugha gS \ 

(A) oxZ psruk 

(B) oxZ /kzqohdj.k  

(C) oxZ fo}s”k 

(D) iznÙk lnL;rk  
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44. Which of the following is not an 

agency of social control ? 

(A)   Judiciary  

(B) Economy 

(C) Religion  

(D) Norms  

 44. fuEufyf[kr esa ls dkSu lkekftd fu;a=.k 

dk vfHkdj.k ugha gS \ 

(A) U;k;ikfydk 

(B) vFkZO;oLFkk 

(C) /keZ 

(D) ekun.M 

45. Which condition exist before there 

appears accommodation process? 

(A)   Co-operation  

(B) Conflict  

(C) Adaptation  

(D) Assimilation  

 45. O;oLFkkiu izfØ;k ls iwoZ dkSu lh fLFkfr 

vfLrRo esa gksrh gS \ 

(A) lg;ksx 

(B) la?k”kZ 

(C) vuqdwyu  

(D) vkRelkRehdj.k  

46. “Cold War” is an example of : 

(A)   Class conflict  

(B) Direct conflict  

(C) Indirect conflict  

(D) Co-operation  

 46. ^^’khr ;q)** ,d mnkgj.k gS % 

(A) oxZ la?k”kZ dk 

(B) izR;{k la?k”kZ dk 

(C) vizR;{k la?k”kZ dk 

(D) lg;ksx dk  

47. Who explain the direct and 

indirect Co-operation ? 

(A)   Green 

(B) Leslie  

(C) MacIver and page  

(D) Gillin and Gillin  

 47. izR;{k o vizR;{k lg;ksx dh O;k[;k fdlus 

dh gS \ 

(A) xzhu 

(B) ysLyh 

(C) eSdkboj o ist 

(D) fxfyu vkSj fxfyu  
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48. Cultural Lag means : 

(A)   Lag between culture of two 

Societies 

(B) Lag between material and 

non-material culture  

(C) Lag between past and present 

cultures  

(D) Lag between western and 

eastern cultures  

 48. lkaLÑfrd foyEcuk dk vFkZ gS % 

(A) nks lektksa dh laLÑfr ds e/; 

foyEcuk  

(B) HkkSfrd vkSj vHkkSfrd laLÑfr ds e/; 

foyEcuk 

(C) Hkwr vkSj orZeku laLÑfr;ksa ds e/; 

foyEcuk 

(D) if’peh vkSj iwohZ laLÑfr;ksa ds e/; 

foyEcuk  

49. Which among the following is the 

indicator of open stratification 

system ? 

(A)   Ethnicity  

(B) Caste 

(C) Religion 

(D) Class  

 49. fUkEufyf[kr esa ls dkSu lk [kqyk Lrjhdj.k 

O;oLFkk dk ladsr gS \ 

(A) ut̀kfr;rk 

(B) tkfr  

(C) /keZ 

(D) oxZ 

50. Who has talked about two types of 

social control-Direct and indirect ? 

(A)   Kimball young  

(B) Karl Mannheim  

(C) C. H. Cooley  

(D) Weber  

 50. fdlus lkekftd fu;a=.k ds nks izdkj izR;{k 

,oa vizR;{k dk mYys[k fd;k gS \ 

(A) fdEcky ;ax 

(B) dkyZ eSughe 

(C) lhŒ ,pŒ dwys  

(D) oscj  
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51. Who propounded the functional 

theory of stratification ? 

(A)   Toyanbee  

(B) Davis and Moore  

(C) Kroeber 

(D) Weber  

 51. Lrjhdj.k dk izdk;kZRed fl)kUr fdlus 

izfrikfnr fd;k \ 

(A) Vk;uch 

(B) Msfol ,oa ewjs 

(C) Økscj  

(D) oscj  

52. Exercise of power through force or 

threat of force is known as : 

(A)   Terrorism 

(B) Vandalism  

(C) Coercion 

(D) Authority  

 52. cy ;k cy dh /kedh ds ek/;e ls ‘kfDr ds 

iz;ksx dks dgk tkrk gS % 

(A) vkradokn 

(B) ccZjrk 

(C) voihM+u 

(D) lÙkk  

53. Who said “When a class is some-

what strictly hereditary” we may 

call it caste” ? 

(A)   Majumdar  

(B) Durkheim  

(C) Cooley  

(D) Davis  

 53. fdlus dgk gS ^^tc ,d oxZ yxHkx iw.kZr;k 

oa’kkuqØe.k ij vk/kkfjr gksrk gS** rc ge 

bls tkfr dg ldrs gS \ 

(A) etwenkj 

(B) nq[khZe 

(C) dwys  

(D) Msfol  

54. Which one of the following is not 

the characteristic of the Conflict ? 

(A)   Universal process  

(B) Conscious process 

(C) Personal process  

(D) Continuous process  

 54. fuEufyf[kr esa ls dkSUk lh la?k”kZ dh fo’ks”krk 

ugha gS \ 

(A) lkoZHkkSfed izfØ;k 

(B) psru izfØ;k 

(C) oS;fDrd izfØ;k 

(D) fujUrj izfØ;k 
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55. Who said “Stratification is a 

horizontal division of society into 

higher and lower social units” ? 

(A)   Raymond Murray  

(B) P. Gisbert 

(C) F. Lumley  

(D) Durkheim  

 55. fdlus dgk gS ^^Lrjhdj.k mPprj o fuEurj 

lkekftd bdkb;ksa esa lekt dk ,d {kSfrt 

foHkktu gS** \ 

(A) jse.M ewjs 

(B) ihŒ ftlcVZ 

(C) ,QŒ ywEys 

(D) nq[khZe 

56. Which statement is not correct 

amongst the following ? 

(A)   Hierarchy is found in the 

caste system   

(B) Hierarchy is not found in the 

caste system  

(C) Restrictions on fooding are 

found in caste system 

(D) Caste system is based on 

birth  

 56. fuEufyf[kr esa ls dkSu lk dFku lgh ugha 

gS \ 

(A) tkfr O;oLFkk esa laLrj.k ik;k tkrk 

gS 

(B) tkfr O;oLFkk esa laLrj.k ugha ik;k 

tkrk gS 

(C) tkfr O;oLFkk esa Hkkstu ij izfrca/k 

ik;k tkrk gS 

(D) tkfr O;OkLFkk tUe ij vk/kkfjr gS  

57. How many characteristics of caste 

was described by G. S. Ghurye ? 

(A)   6 

(B) 4 

(C) 12 

(D) 10 

 57. thŒ ,lŒ ?kwfj;s us tkfr dh fdruh 

fo’ks”krkvksa dk mYys[k fd;k gS \ 

(A)   6 

(B) 4 

(C) 12 

(D) 10 
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58. Associative Social Process does 

not include : 

(A)   Adjustment  

(B) Co-operation  

(C) Accommodation  

(D) Competition  

 58. 

 

 

laxBukRed lkekftd izfØ;k esa dkSu lk 

lfEefyr ugha gS \ 

(A) lek;kstu  

(B) lg;ksx 

(C) O;oLFkkiu 

(D) izfrLi/kkZ  

59. “Tribes are nothing but the 

backward caste Hindus”, Who’s 

statement is this ? 

(A)   S. C. Dube 

(B) Louis Dumont  

(C) G. S. Ghurye 

(D) R. K. Mukherjee  

 59. ^^tutkfr;ka dqN ugah gSa**] cfYd os fiNM+h 

fgUnw tkfr;ka gSa**] ;g dFku fdldk gS \ 

(A) ,lŒ lhŒ nqcs 

(B) yqbZ M~;wek 

(C) thŒ ,lŒ ?kwfj;s  

(D) vkjŒ dsŒ eq[kthZ  

60. Who used the concept of Positive 

Contact and Negative Contact ? 

(A)   MacIver and Page  

(B) Sumner 

(C) Giddens  

(D) Gillin and Gillin  

 60. ldkjkRed vkSj udkjkRed laidZ dh 

vo/kkj.kk dk iz;ksx fdlus fd;k gS \ 

(A) eSdkboj o ist 

(B) leuj  

(C) fxM~MsUl 

(D) fxfyu vkSj fxfyu  

61. Who propounded that Sociology is 

the study of Social facts ? 

(A)   Davis 

(B) Durkheim  

(C) Marx 

(D) Weber  

 61. ;g fdlus izfrikfnr fd;k fd lekt’kkL= 

lkekftd rF;ksa dk v/;;u gS \ 

(A) Msfol 

(B) nq[khZe 

(C) ekDlZ 

(D) oscj  
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62. Which of the following is not 

regarded as the characteristic 

feature of Scientific method ? 

(A)   Reliability  

(B) Validity  

(C) Replicability  

(D) Common sense observation  

 62. oSKkfud i)fr dk fof’k”V y{k.k 

fuEufyf[kr esa ls dkSu lk ugha gS \ 

(A) fo’oluh;rk 

(B) oS/krk 

(C) iqujkòfDrrk 

(D) lgtcks/k voyksdu  

63. Who said that “Sociology and 

Anthropology both are twin 

sisters”? 

(A)   MacIver  

(B) Durkheim  

(C) Comte  

(D) Kroeber  

 63. ^^lekt’kkL= vkSj ekuo’kkL= nksuks tqM+ok 

cgus gSa** ;g fdlus dgk gS \ 

(A) eSdkboj 

(B) nq[khZe 

(C) dkWEV 

(D) Økscj  

64. Sociology emerged as a new 

discipline in which one of the 

following countries ? 

(A)   France  

(B) India  

(C) England 

(D) Portugal  

 64. lekt’kkL= dk mn~Hko ,d u;s fo”k; ds 

:i esa fuEufyf[kr esa ls fdl ns’k esa gqvk 

gS\ 

(A) Ýkal 

(B) Hkkjr  

(C) baXyS.M 

(D) iqrZxky 

65. Who used the term “Social 

Physics” for Sociology ? 

(A)   Auguste Comte  

(B) Herbert Spencer  

(C) Karl Marx 

(D) Max Weber  

 65. ^^lkekftd HkkSfrdh** in lekt’kkL= ds fy;s 

fdlus iz;ksx esa fy;k \ 

(A) vxLr dkWEV 

(B) gjcVZ LisUlj 

(C) dkyZ ekDlZ 

(D) eSDl oscj 



Series-A B.A. L.L.B. – 103/ 673 Page - 20 

66. Sociology is related to : 

(A)   Psychology  

(B) Anthropology  

(C) Political Science  

(D) All of the above  

 66. lekt’kkL= dk laca/k gS % 

(A) euksfoKku 

(B) ekuo’kkL= 

(C) jktuhfr foKku 

(D) lHkh ls  

67. Which of the Universities in North 

India initiated the teaching and 

research in Sociology ? 

(A)   Punjab University 

(B) Kanpur University 

(C) Lucknow University 

(D) Agra University 

 67. mÙkj Hkkjr esa fdl fo’ofo|ky; us 

lekt’kkL= ds v/;kiu ,oa ‘kks/k dh igy 

dh \ 

(A) iatkc fo’ofo|ky; 

(B) dkuiqj fo’ofo|ky; 

(C) y[kuÅ fo’ofo|ky; 

(D) vkxj fo’ofo|ky; 

68. Who among the classical 

Sociologists has used quantitative 

method in Comparative analysis ? 

(A)   Emile Durkheim  

(B) Karl Marx 

(C) Auguste Comte  

(D) D. P. Mukharjee  

 68. ‘kkL=h; lekt’kkfL=;ksa esa ls fdlus 

rqyukRed fo’ys”k.k esa ifjek.kkRed fof/k dk 

iz;ksx fd;k gS \ 

(A) bekby nq[khZe 

(B) dkyZ ekDlZ 

(C) vxLr dkWEV 

(D) MhŒ ihŒ eq[kthZ 

69. “Sociology is regarded neither as 

the mistress nor as the husband of 

the Social Sciences but as their 

sister” whose words are there ?  

(A)   Light and Keller  

(B) B. Bhushan  

(C) Auguste Comte 

(D) Barnes and Becker  

 69. ^^lekt’kkL= vU; lkekftd foKkuksa dh u 

rks xg̀Lokfeuh gS vkSj u gh mudh nklh gS] 

vfirq mudh cgu gS ;s ‘kCn fdlds gSa \ 

(A) ykbV vkSj dsyj  

(B) chŒ Hkw”k.k 

(C) vxLr dkWEV 

(D) ckUlZ ,oa csdj  
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70. In 1919 who was appointed as a 

first professor of Sociology in 

Bombay University ? 

(A)   G. S. Ghurye  

(B) Andre Beteille  

(C) Sir Patrick Geddes  

(D) M. N. Srinivas  

 70. lu~ 1919 esa cEcbZ fo’ofo|ky; esa 

lekt’kkL= ds izksQslj ds :i esa fdldh 

fu;qfDr gqbZ \ 

(A) thŒ ,lŒ ?kw;Zs 

(B) vkUnsz fcrkbZ 

(C) lj iSfVªd xsM~l 

(D) ,eŒ ,uŒ Jhfuokl  

71. Sociology in India was introduced 

at University level in the year : 

(A)   1819 

(B) 1919 

(C) 1951 

(D) 1978 

 71. Hkkjr esa lekt’kkL= fdl o”kZ ls 

fo’ofo|ky; Lrj ij izkjEHk fd;k x;k % 

(A)   1819 

(B) 1919 

(C) 1951 

(D) 1978 

72. Who has argued that “Sociology 

has a long past but only a short 

history” ? 

(A)   Spencer  

(B) Kroeber  

(C) Davis 

(D) Bierstedt  

 72. fdlus dgk gS fd ^^lekt’kkL= dk ,d 

yEck vrhr jgk gS ysfdu bfrgkl dkQh 

NksVk gS** \ 

(A) Lisalj 

(B) Økscj  

(C) Msfol 

(D) ohjLVhM  

73. “The unity of all Sciences consist 

alone in its method, not in its 

material” who said this ? 

(A)   Karl Pearson  

(B) Karl Marx 

(C) Lundberg  

(D) Bernard  

 73. ^^lHkh foKkuksa dh ,drk mldh i)fr esa gS 

u fd mldh fo”k; oLRkq esa** fdlus dgk gS\ 

(A) dkyZ fi;lZu 

(B) dkyZ ekDlZ 

(C) yq.McxZ 

(D) cukZMZ 
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74. Sociology as a Scientific discipline 

has emerged during which period ? 

(A)   Chinese and agricultural 

revolution   

(B) French and industrial 

revolution  

(C) American and democratic 

revolution  

(D) Russian and Scientific 

revolution  

 74. oSKkfud fo”k; ds :i esa lekt’kkL= dk 

fodkl fdl dky ds nkSjku gqvk \ 

(A) phuh vkSj Ñf”k ØkfUr 

(B) Ýkalhlh vkSj vkS|ksfxd ØkfUr 

(C) vesfjdh vkSj iztkrkaf=d ØkfUr 

(D) :lh vkSj oSKkfud ØkfUr 

75. The term Sociology was coined 

by: 

(A)   Herbert Spencer  

(B) Saint Bernard  

(C) Auguste Comte  

(D) Max Weber  

 75. lekt’kkL= ‘kCn fduds }kjk x<+k x;k gS % 

(A) gjcVZ LisUlj 

(B) lsUV cukZMZ 

(C) vkxLr dkWEV 

(D) eSDl oscj 

76. Which one is not the bases of 

Sociological perspective ? 

(A)   Fact  

(B) Variable  

(C) Concepts  

(D) Prejudice  

 76. lekt’kkL=h; ifjizs{; dk dkSu lk ,d 

vk/kkj ugha gS \ 

(A) rF; 

(B) pj 

(C) vo/kkj.kk,¡ 

(D) iwokZxzg  
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77. “Sociology is the Science which 

attempts an interpretative 

understanding of Social action” 

who said it ? 

(A)   MacIver and Page 

(B) Emile Durkheim  

(C) Max Weber  

(D) T. Parsons  

 77. ^^lekt’kkL= ,d ,slk foKku gS ftlesa 

lkekftd ÑR; dh O;k[;kRed le> dk 

iz;kl fd;k tkrk gS** ;g fdlus dgk gS \ 

(A) eSdkboj rFkk ist  

(B) bZekby nq[khZe 

(C) eSDl oscj 

(D) VhŒ ikjlUl 

78. The name of Sociology was given 

in which year ? 

(A)   1838 

(B) 1938 

(C) 1736 

(D) 1858 

 78. fdl o”kZ lekt’kkL= uke fn;k x;k Fkk \ 

(A)   1838 

(B) 1938 

(C) 1736 

(D) 1858 

79. Radha kamal Mukharji” belong to 

which school ? 

(A)   Bombay  

(B) Lucknow  

(C) Calcutta  

(D) Delhi  

 79. jk/kk dey eq[kthZ fdl Ldwy ls laca/k j[krs 

gSa \ 

(A) cEcbZ 

(B) y[kuÅ 

(C) dydÙkk 

(D) fnYyh  

80. Who was the first president of 

“Indian Sociological Society” ? 

(A)   A. M. Shah 

(B) K. L. Sharma  

(C) G. S. Ghurye  

(D) T. K. Oommen  

 80. bf.M;u lksf’k;ksykWftdy lkslkbVh ds izFke 

v/;{k dkSUk Fks \ 

(A) ,Œ ,eŒ ‘kkg 

(B) dsŒ ,yŒ ‘kekZ 

(C) thŒ ,lŒ ?kq;Zs 

(D) VhŒ dsŒ vksEesu 
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81. Earliest foundation of ‘Sociology 

of Law’ can be seen in the writings 

of :  

(A)   Max Weber  

(B) Karl Marx 

(C) James Frazer  

(D) C. H. Cooley  

 81. ^dkuwu ds lekt’kkL=* dh vkjfEHkd 

vk/kkjf’kyk fdlds ys[ku esa ns[kh tk ldrh 

gS \ 

(A) eSDl oscj 

(B) dkyZ ekDlZ 

(C) tsEl Ýstj 

(D) lhŒ ,pŒ dwys  

82. Repressive and Restitutive Law is 

given by : 

(A)   T. Parsons 

(B) Max Weber  

(C) Emile Durkheim  

(D) Ward  

 82. neudkjh vkSj izfrdkjh dkuwu ds ckjs esa 

fdlds }kjk crk;k x;k gS \ 

(A) VhŒ ikjlUl 

(B) eSDl oscj 

(C) bekby nq[khZe 

(D) okMZ 

83. ‘Maintenance and Welfare of 

Parents and Senior Citizens Act’ 

was passed in which year ? 

(A)   1960 

(B) 1970 

(C) 1997 

(D) 2007 

 83. ^ekrk&firk vkSj ofj”B ukxfjdksa dk 

Hkj.k&iks”k.k vkSj dY;k.k vf/kfu;e** fdl 

o”kZ ikfjr gqvk Fkk \ 

(A)   1960 

(B) 1970 

(C) 1997 

(D) 2007 

84. In which year ‘Bonded Labour 

Abolition Act’ came into 

existence? 

(A)   1976 

(B) 1986 

(C) 1996 

(D) 1966 

 84. ca/kqvk etnwjh mUewyu vf/kfu;e fdl o”kZ 

vfLRkRo esa vk;k \ 

(A)   1976 

(B) 1986 

(C) 1996 

(D) 1966 
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85. When was “Dowry Prohibition 

Act’ passed ? 

(A)   1981 

(B) 1971 

(C) 1961 

(D) 1951 

 85. ^ngst fujks/kd vf/kfu;e* dc ikfjr gqvk \ 

(A)   1981 

(B) 1971 

(C) 1961 

(D) 1951 

86. When was the ‘Domestic Violence 

Act’ passed in India ? 

(A)   2005 

(B) 2007 

(C) 2009 

(D) 2010 

 86. ^?kjsyw fgalk vf/kfu;e* Hkkjr esa dc ikfjr 

gqvk \ 

(A)   2005 

(B) 2007 

(C) 2009 

(D) 2010 

87. ‘Maternity Benefit Act’ was 

passed in the year : 

(A)   1961 

(B) 1947 

(C) 1955 

(D) 1970 

 87. ^ekrR̀o ykHk vf/kfu;e* fdl o”kZ ikfjr gqvk 

Fkk \ 

(A)   1961 

(B) 1947 

(C) 1955 

(D) 1970 

88. In which year ‘Juvenile Justice 

Act’ was passed ? 

(A)   1987 

(B) 1986 

(C) 1988 

(D) 1989 

 88. ^cky U;k; vf/kfu;e* dc ikfjr gqvk \ 

(A)   1987 

(B) 1986 

(C) 1988 

(D) 1989 
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89. Ishwar Chandra Vidyasagar led a 

movement against the : 

(A)   Widow Marriage  

(B) Child Marriage  

(C) Both (A) and (B) 

(D) None of these  

 89. bZ’ojpUnz fo|klkxj us fdlds fy;s 

vkUnksyu NsM+k Fkk \ 

(A) fo/kok fookg 

(B) cky fookg 

(C) nksuksa (A) vkSj (B) 

(D) mijksDr esa ls dksbZ ugha 

90. The ‘Sharda Act’ was passed to 

prevent what ? 

(A)   Widow Remarriage  

(B) Child Marriage  

(C) Dowry system 

(D) None of the above  

 90. ^’kkjnk ,DV* D;k jksdus ds fy;s ikfjr gqvk 

Fkk \ 

(A) fo/kok iqufoZokg 

(B) cky fookg 

(C) ngst izFkk 

(D) mijksDr esa ls dksbZ ugha 

91. Who wrote the book “The Hindu 

Jajmani System” ? 

(A)   D. P. Mukherjee  

(B) A. C. Mayer  

(C) William Wiser 

(D) K. Gough  

 91. ^^n fgUnw ttekuh flLVe** iqLrd fdlus 

fy[kh gS \ 

(A) MhŒ ihŒ eq[kthZ 

(B) ,Œ lhŒ es;j  

(C) fofy;e okbtj  

(D) dsŒ xQ 

92. Right to education was introduced 

as fundamental Rights under 

which of the following Article of 

Indian Constitution ? 

(A)   Article-14 

(B) Article-21 

(C) Article-16 

(D) Article-21(A) 

 92. f’k{kk ds vf/kdkj dk ‘kqHkkjEHk ewyHkwr 

vf/kdkj ds vUrxZr fd;k x;k] ;s Hkkjrh; 

lafo/kku ds fdl vuqPNsn ds vUrxZr ‘kkfey 

fd;k x;k gS \ 

(A) vuqPNsn&14 

(B) vuqPNsn&21 

(C) vuqPNsn&16 

(D) vuqPNsn&21(A) 
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93. The book “Modernization of 

Indian Tradition is written by : 

(A)   M. N. Srinivas 

(B) Yogendra Singh  

(C) S. C. Dube 

(D) K. L. Sharma  

 93. ^^Hkkjrh; ijEijk dk vk/kqfudhdj.k** iqLrd 

fdlds }kjk fy[kh xbZ gS % 

(A) ,eŒ ,uŒ Jhfuokl 

(B) ;ksxsUnz flag 

(C) ,lŒ lhŒ nqcs 

(D) dsŒ ,yŒ ‘kekZ 

94. Who is the author of the book 

“Social change in Modern India” ? 

(A)   M. N. Srinivas 

(B) S. C. Dube 

(C) I. P. Desai 

(D) R. K. Mukherjee  

 94. ^^vk/kqfud Hkkjr esa lkekftd ifjorZu** 

iqLRkd ds ys[kd dkSu gSa \ 

(A) ,eŒ ,uŒ Jhfuokl 

(B) ,lŒ lhŒ nqcs 

(C) vkbZŒ ihŒ nslkbZ 

(D) vkjŒ dsŒ eq[kthZ 

95. Khap Panchayats are more 

effective in which state ? 

(A)   Haryana 

(B) Tamilnadu 

(C) Manipur 

(D) Assam  

 95. [kki iapk;krsa vf/kd izHkkoh fdl jkT; esa gS\ 

(A) gfj;k.kk 

(B) rfeyukMq 

(C) ef.kiqj 

(D) vle  
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96. The ‘Minimum Wages Act’ was 

passed in which year ? 

(A)   1961 

(B) 1970 

(C) 1948 

(D) 1990 

 96. ^ U;wure etnwjh vf/kfu;e* fdl o”kZ esa 

ikfjr gqvk Fkk \ 

(A)   1961 

(B) 1970 

(C) 1948 

(D) 1990 

97. Which amendment of the 

Constitution of India has 

strengthened Panchayati Raj ? 

(A)   36 

(B) 68 

(C) 73 

(D) 81 

 97. Hkkjrh; lafo/kku ds fdl la’kks/ku us iapk;rh 

jkt O;oLFkk dks lqn<̀+ fd;k gS \ 

(A)   36 

(B) 68 

(C) 73 

(D) 81 

98. When ‘Equal Remuneration Act’ 

was passed ? 

(A)   1961 

(B) 1952 

(C) 1948 

(D) 1976 

 98. ^leku ikfjJfed vf/kfu;e* dc ikfjr 

gqvk\ 

(A)   1961 

(B) 1952 

(C) 1948 

(D) 1976 
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99. Secularism is added in constitution 

by the amendment of : 

(A)   42th  

(B) 62th 

(C) 47th 

(D) 73th 

 99. /keZ fujis{krk dks lafo/kku esa fdl la’kks/ku 

ds }kjk tksM+k x;k \ 

(A) 42oka 

(B) 62oka 

(C) 47oka 

(D) 73oka 

100. Provisions for divorce among 

Hindus are provided under Hindu 

marriage Act of which year ? 

(A)   1955 

(B) 1956 

(C) 1961 

(D) 1973 

 100. fdl o”kZ fgUnw fookg vf/kfu;e ds vUrxZr 

fgUnqvksa dks rykd ds izko/kku iznku fd;s 

x;s \ 

(A)   1955 

(B) 1956 

(C) 1961 

(D) 1973 

 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


